TotalMarks:.... Class:10th Time:....

Test:Math

Attempt ........ questions

T A set with no element is called: . ;_t-u,fy,_,f d[u‘u’_,y
a)Subset b)Empty set Dery blerdb
c)Singleton set d) Super set c)d’f:’l:g d)es 3

2 The relation {(1,2)(2,3),3,3),(3,4)} is - {(1,2) (2 3) (3 3).(3,4)}4
a) onto function b) into function a) u—’C’ Yol
c) not a function d) one-one function  ¢) ;_u""u—’c’ d) U"GU! s

3 Ifnumber of elements in set A is 3 and in set B J’J’ZJUJJJUKJIJBJJIY3JIP’JUE/AJAJ/
is 2, then number of binary relation in AxB is: r!'JU-” JU(J' J~AxB
a)2’ b)2’ a)2’ b)2’
c)2' d)2’ c)2’ d)2’

4 IfAS B,the A-B is equal to : Eysi A -BinAcBS]
a)A b)B DA b)B
c)d d)B-A 3 dB-A

> A set having only one element is called: _c;_t'MfJ/ JFJ/"J:JZ:«{
a)Null set b)Power set a)r g b)Lr JJL
c)Singleton set d) Subset c)_%rﬁg d) MU;

6 Point(-1,4) lies in the quadrant -:"_.t'ﬁ uféz(*l,ﬁi).b}]
a)l b1l a)l bII
Il DIV I DIV

7 Power set of an empty set is e t‘ﬁ&r»&(&rdl&
a) o b){a} a) ¢ b){a}
c){¢ {a}} d){¢} b {a}} d{¢}

8 The different number of ways to describe a set _LJﬁ:'ﬁJuﬁ;’)’J;Z.d../uny:
are :
)l b)2 )l b)2
c)3 d)4 )3 d)4
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